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IH AGY V, = 220sin(2760t) [V], A R = 30Q, A& ¥ L = 100mH, AHAE C = 50pF 4 of,
0.01 &= 5 ZF 228 of| YA & F3HA] 2.
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w = 27 x 60 = 376.99rad /s
Zr =309
Z1, = jwL = j37.79Q
1
Zo = —— = —j53.05Q
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Z=R+7Z;+Zc=230—;1535Q
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Z|=337Q, In=-—=653A, ILn=——==461A4
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1
Pp = 5I;R =639.5W, Wr=Prxt=6.395J
1
Vo = Ims X |Zc| = 2446V, We = 5CVC% =1.494J
1 2
Wy, = 5Lfrms =1.062.J
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3 4m] o1 A] 6.395 J, ASHAIE] A7 o] 11 2] 1.494 J, A9 E A7 o A 2] 1.062J



I, = 5cos(2r50t) [A], A8 R = 40Q, A A €] C = 60pF, QA e L = 80mH < ul, ¢ = 0.015
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w = 314.16rad/s
Zr=40Q, Zo=—j53.05Q, Zp=725.13Q
ZypZc )
o= ——— =4j47.73Q)
=z v 20 Y
Ziotal = LR + 210 :404-]477397 |Z| =62.170Q
Vip = Iy % |Z] = 310.85V, Ims = 3.54 A
Pr=500W, Wg=15J
Vo = 187.6V, We =1.058.J, Wi =05J
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AR AFd Vs = 100V, A& Ry =209, Ry = 40Q, A H L = 50mH, A A B C = 100pF & =f,
27k AY A RRE F 7 A A EE 2v] o 114§ FEA L.
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AT A A A Q9= G, AAIHE A2 AFTUTh
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=—> = =1.67TA
R+ Ro 60

Pri =I?Ry =55.6W, Ppro=I’Ry=111.1W
AYE A ol A]:
1
W = 5LI2 =0.5x 0.05 x 1.672 = 0.07J
ANAE A AR =0 (AF ZA JE)

o}
Ry 2¥] A8 55.6W, Ry 28] A8 111.1W, QA E A7 2] 0.07J, ATRATE A7 o YA 0]
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Zr=25Q, Zp=j94.25Q, Zc=—j53.05Q
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A = —"— =74130.7Q2
L=+ ze 7

Ziotal = Zr + Zro = 25+ j130.7Q,  |Z] = 133.2Q
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Vin = Iy X |Z| =4x1332=5328V, L= —==2834
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Pr=05x42%x25=200W, Wgr=4J

Vo =2.83 % 53.05 =150.2V, We =0.5x30 x 107% x 150.2%2 = 0.339 .J

Wi = 0.5 x 0.15 x 2.83%2 = 0.601 J
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A e o A ZF AR} Al A& FEA L.
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APAIE A o FAl: AN = TS AV, e 2ome

1
We = 5CVS2 =0.5 x 100 x 107% x 50% = 0.125 J
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A 4n] A8 125 W, QA E A7 o] 2] 0.625 T, ASHATE A7 o] 2] 0.125]
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TH ALYV, = 150cos(2w50t) [V], A R = 20Q, AFE L; = 100mH, Ly, = 200mH, # 3} A €]
C=80pF ¢ ufl,t =0.02 % 52 22 A E= 4H] YA & FIA L
£l
w =27 x 50 = 314.16rad/s
Zr=20Q, Zp =3j3142Q, Z,=j6283Q, Zc=—j39.79Q
Ziotal = R4+ Zp1 + Zpa + Zo = 20 + j(31.42 4 62.83 — 39.79) = 20 + j54.46 Q)
150
|Z| = /202 +54.462 = 58.99Q, Ip=-———— =184
V2 x 58.99
Wg=I?Rt = 1.82 x 20 x 0.02 = 1.296 J
1
Wi = 5L112 =0.5x0.1x1.82=0.162J
1
Wio = §L212 =05x0.2x1.8=0.324J
Vo =1x|Zc| =1.8x%x39.79=71.62V, Wc=0.5x80x 107% x 71.62% = 0.205 .J
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ALV, = 300 cos(2760¢) [V], A3 R = 509, AZE] L = 150mH, A A € = 60uF L ul, ¢ = 0.01 %
ok 7t 2 Ae] o 1] ) 2 FEHA 2.
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w =27 - 60 = 376.99rad/s
Zr=>50Q, Zp=3j56.55Q, Zc= —j44.25Q
Z =50+ 3j12.3Q, |Z|=51.490Q
I= 51%090\/5 =4.12A
Wr = I?Rt = 4.12% x 50 x 0.01 = 8.49J
W = %LIQ =0.5x0.15 x 4.122 = 1.27]
Vo =4.12 x 44.25 = 182.4V

We = 0.5 x 60 x 107° x 182.4% = 0.998 J
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AFY I, = 6sin(21120¢) [A], 1 R = 30Q, AT AIE] C; = 40 pF, Co = 60 pF, AL L = 100mH U wf,
=0.01% 52 7 224e] A& T3] L.
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w =27 - 120 = 753.98 rad/s
Zr=30Q, Zci=—j3317Q, Zco=—j2211Q, Zp =j754Q
Zca - 41, .
Zeor = ———2 = j56.12Q
LT Zea+ 71 J
Ziotal = Zr + Zo1 + Zoar, = 30 4+ 522.95€), ‘Z| =37.7Q
Vi, =6x37.7=2262V, I= PO
V2
Wg = I?Rt = 4.24% x 30 x 0.01 = 5.39J
Vor = 4.24 x 33.17 = 140.8V, Weq = 0.5 x 40 x 1076 x 140.8% = 0.397J
Voo =4.24 %2211 =938V, Weo = 0.5 x 60 x 1076 x 93.8% = 0.264 J
Wr =0.5x0.1x4.242 =0.899J
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w =27 -100 = 628.32rad/s
7, = 7549, Zo = —j39.790
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Zio = ———— =494.230Q)
Le Zn+ Zo J
Z =60+ 794230, |Z] =112.00
=20 964
\/§ x 112.0

Wgr = I’Rt = 1.26% x 60 x 0.015 = 1.43J



Wy =0.5x 0.12 x 1.26% = 0.095 J
Vo =1.26 x 39.79 = 50.17V, We =0.5 x40 x 107 x 50.172 = 0.050J

A& 4] oy 2] 1.437, A9 E A2 ol 2] 0.095 T, ASHAIE A7 ol ] 2] 0.050
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AFYI, = 3cos(2w60t) [A], Ry = 2090, Ry = 3090, L1 = 80mH, Ly = 120 mH, AAE C = 100 pF L
wl, t =0.02% 5] ZF A%} o YR & TEHA] L.

Zol:
w = 2m - 60 = 376.99rad/s
3
Iims = — = 2.12A
V2
Wpg1 = 2.122 x 20 x 0.02 = 1.80J Wpge = 2.122 x 30 x 0.02 = 2.70J
Wi =0.5x0.08 x 2.122 =0.179J, Wps = 0.5 x 0.12 x 2.12% = 0.268 J
1 1
Vo = s X — = 2.12 =562V
c s X oC " 376.99 x 100 x 10~
We = 0.5 x 100 x 107°¢ x 56.2%2 = 0.158 J
o}

Ry 2v] oA 1.80J, Ry A&1] o\ %] 2.70J, L; A7 ol ] 0.179J, Ly A7 ol A 0.268 J, A3 A & A=
o 4 A 0.158J



